1) P{hnvx): Plve) x f;t (uu,)

- Gfé}(@),é_—_-o}%

—_—

P(gr_ ﬂgs)z r(‘h’_ﬁ' Y 63:’1 CG})
= OyLx 0,4
= O3
2 Qo %o ol e P
2) TBZ f’[\h T‘tl"':_.\l 4 ?(\/'1[‘\\/3)
Ong + '?WIJT\]{U:J

=  Oy3 ¥0,9

= Cy‘u (5111 B \i“ ﬂ
y 5,4,\@ Hajw it g l [' _
A L0 AV AL 0T
Jﬁ%-—acy/%‘ﬂ e fmﬂ m}l) ﬂ' lh : ¥
QS TR AT
03 V-’hﬁ :%; *6)6*@#%)){();4_
o pex0§ 0 A= 0w
::,Ol,s*'\r\j’ojut

) UrnH = Prad-00= 05 o -04=0) (pn ~gp)
i O};B Um
(me%_j v &R&fﬂ\q:oﬁé&w
feame Uy P1-02=0,8
b) UI'E‘F U"L“ ﬁM 20 “{Pﬂqﬁ]

i
PM:UM@,!, = D;J}x[p‘s‘)” +ol

C> Um pﬂ = O}z Can aﬂ;ﬂl@]ﬁj’nﬂl;o

\m%@, W_Hﬂ}
ﬁ”ﬁ‘wjﬂ%&u% ot & oy
ot o)

54,



